
IE681−4A, 61

Colorimetric transformation  i = 5
c*i  = c*5  = a c*b with a = 0,50; b = 1,00

rgb −> cmy0* olv* −> cmy0*5



IE681−4A, 62

Colorimetric transformation  i = 5
c*i  = c*5  = a c*b with a = 0,50; b = 1,00

rgb −> cmy0* olv* −> cmy0*5



IE681−4A, 63

Colorimetric transformation  i = 5
c*i  = c*5  = a c*b with a = 0,50; b = 1,00

rgb −> cmy0* olv* −> cmy0*5



IE681−4A, 64

Colorimetric transformation  i = 5
c*i  = c*5  = a c*b with a = 0,50; b = 1,00

rgb −> cmy0* olv* −> cmy0*5



IE681−4A, 65

Colorimetric transformation  i = 5
c*i  = c*5  = a c*b with a = 0,50; b = 1,00

rgb −> cmy0* olv* −> cmy0*5



IE681−4A, 66

Colorimetric transformation  i = 5
c*i  = c*5  = a c*b with a = 0,50; b = 1,00

rgb −> cmy0* olv* −> cmy0*5


